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FEXFRBEWERERF, 9 H B4 4 : Section A(NXiE ) F7 Section B X), & H
108, (5 REEWESZ — , FRHEA L XFZL— XEFENF L4 120 7,

_\RT]. i‘ﬁ &

Y3 U7 7 R (Section A) £ F XA 4 £ 754 AP LRI 0 k42 & oy 48 ) Fn 4B xEi8 4
BWEY . eHUTHE:

1. [REFE R (Cause and Effect)

B R X % (cause and effect) EHT /MK PR —F ¥ AHHXE, dEF—FHFEAF &
BHRE, - REHFEEDLEERR W, ¥ H “as”, “for”, “since”, “because” % 7 & 5| H
LBEABLEE, EAHANEFALAHAREFMER BV REATANERKLER LA
Why 15, X BEENHL X, EEMOER LT, B BEERHE, iEF ¥R
WA —MERXRd s that"f“so” 5|, A RRRER. EHTRK LHRL RoxtiE
BRI —REE AR E AL L, B, TR LT FER T ENEREX AR LA E
BWE XK,

&1
You will hear:
W: Mrs. Park said she had been late for the meeting because her mother was ill and she sent her
to the hospital .
M: Sorry to hear that. Is her mother now at home or still in hospital?
Q: Why was Mrs. Park late for the meeting?
A) She was ill.
B) She was sent to the hospital .
C) Her mother was ill and sent to the hospital .
D) She was in the hospital seeing a doctor.

PO~ BEITLL - A0 1R) 58 75 Y 4R a) “fth R B FE S BR iR RE K 7B KXo (BR8] S 7E Mrs.
Park REIHERE b, X B ELHF N FRLFGIEEENES., bET -EHFFHNE
PG T Mrs. Park FFER T, BARMAERT , M5 Mrs. Pak VEHPIER, XE—
~H1 “because” 3| t BN IEFNMIEE M A], A TFE54 At X RE, A)IRH B) Wik
FEHAAR N RE, XRA RN  ERAEET, Ms. Pak £ TER(FLER)
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HARRMACHT . MREMACH T, SUFB A ERITE. HER T XPIRA RENE)S , 3
AHEFE ) C)TUX —IEFASERAERET o

P
You will hear:
M: I thought you were going to see your mother in L. A. Last weekend.
W: I planned to, but she called and said the weekend she was on duty at work, so I stayed on
campus .
Q: Why did the woman change her plan?
A) She planned to visit her mother.
B) She was going to L. A...
C) Her mother was on duty at work.
D) She was free this weekend.

PO ERI TR R AR, FEX SRR B (BRI B S e i N 4 BRI E .
BRASHE 2 A R BE R AL IUE Hh B R AW — TR R R B R A K BB, i = T2
AARTE, BT LA E BE RO AR T o a0 BB 15 53 0 el 355 T e 2%, T [ 8 S AR 7
AT ABAEH R b, SRR AR R MR ER T, XREHARIRE SN AT
EERERT . X HRBEEN XM, I — R LR BB REaY, ¢
H—EWBRE, HEIEWHB T “was on duty at work "X T2 F B RA , BMEREZEE R E
FRRELRBEHIIN., OTRERMERE,

2. 7 ( Negation)

T & (negation) EXERF A b, BNk, HPWE Hz -T2 ERMEEHL£E
TERMHBATRAE, B HFIRER LW HE, 0 HE“Yes” # “No” & & “no”, “nei-
ther”, “nor”, “last” , “few” , “little” “never”, “ hardly” , “scarcely”, “seldomly” “miss”, “lose” , “fail
"%, M UG|RE E e, R, HRt A2 HANES Z, B Z £ 4+ R oA
AN EREANE NTEATFEEX EERERH T, b A RESNER,

#13

You will hear:
W: The undergraduates could hardly understand the French lecture which was given last week .
M: Neither could the graduate students.
Q: What can we leamn from the conversation?
A) The graduate students could understand the lecture .
B) The undergraduate students could understand the lecture.
C) Both the undergraduate students and the graduate students could understand the lecture.
D) Neither the undergraduate students nor the graduate students could understand the lecture.

FHERLHEHT “hardly” XM EEIW, BEEGFHFLAT “neither” 3X /1) , fth &2 15 7§



AEFEREAS RN EE, B aFEahnEEmBE P EERR. VB EEETH
“neither” & X 5MERY . TEAIARTIN | “neither” EEFTMET “no”. BB LFEWAHES
. FEVTIHEM SRR BRI — A, %A R A “hardly” 71 neither” X F R A
BEEZNMEERE MERNER, EAERNESE, EABEEEMIRET, L%
YERESIRBINT . I D) N IERREEEI,

Bl 4
You will hear:
M: On no conditions should we go to their dancing party this weekend.
W: I can’t agree more. There will be too many people, too.
Q: What does the man mean?
A) There is no doubt that we should go to the party.
B) We should definitely not go to the party.
C) We are not allowed to go to the party.
D) There is no condition to go to the party.

“at no time”, “in(under) no circumstances” , “on no condition” ZF &R J& % Fi A9 & 1F A7) 46
8, Fm TEAEM AR ARG AR MEL TEHR - "HEX, W ARTHERFERS
RAEEE, XEMEFHAETE, ENNERARELEEE UMY ZEABHARE
o BAIANAE IE B ERAR L7 “1 can’t agree more” (R FE 2R BB HHHY) BB I, RR
PIANBI R —B, MAEHE B)REFRMERT . WATHRAEBET SN LB
FIEHIE R, 10 : “The weather can’t be better.” ( X*XIEH #F o) M1 “The lecture is never more bor-
ing.”" (B H18HEE T ) SRR XIS,

i s
You will hear:
W: These are common problems that we can solve ourselves.
M: Yes, actually, there is no one who doesn’t know how to solve them.
Q: What does the man mean?
A) No one knows how to solve the problems.
B) Everyone knows how to find the solutions to those problems.
C) It’s hard to solve those problems.
D) No one wants to find the solutions to those problems.

ER—THERETESHNAT, NETENDFEAR LREEN, XLBEN
REBPEEERA . EEWHER LR LK, BARNEE R EELFH—IF
ECEREW), T EA B XA AR ERE, B, W55 A8 BB, R R
BETAFH—BEEMABRT 5—0. WAREHBRR(MARELCFE)REREE
Ho HATER NN BTN HEFE R, KERBAARINMHNETERS EHEBNEE
B, BHARRRE-NTHANETERRAZLEEHNAT. X B)TRREH R
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3. BFiEIF14 =2 ( Time and Number)

YT J AR A, 3 8 (time) 1 3 F (number) % 5] B 00 A WA, T RAENH B At
WE R THERTE, PEFACEREFEALEA, RINBURBREFXTEA 5
B BH . BM.ETH Monks 7R, HIEEEMNES S MR EWE S, W: “in the
morning” . “on Sunday moming” 1 “14 : 00 (fourteen sharp F# fourteen hundred hours)” %, K ¥, I
ShOH R - R R TR ET B, RS RPRF RN R R Rk T
FRARBRFRMOL —Ffokifk b EH%E,

Bl 6
You will hear:
W: How long are you going to stay, Mr. Yates?
M: We'll be staying there for four days, starting from 7:30 p.m., Friday.
Q: On what day are the Yates leaving the hotel?
~ A) Tuesday. B) Monday. C) Wednesday. D) Sunday.

R AL, MR LA DT (B it (B )R iy, X o SR At Y B[R] R “starting from 7:
30 p. m., Friday” (AT 7:30) . T BB A ZE“Bb R B ARG, X H 9 “for four days” (f
ARVALEBFBERIERE 48, B E, MBET oK, 3-8 X8 %
‘n+ VHHEFE, B, A) T EREE,

&7

You will hear: »
M: We'd like two rooms with separate baths and a large room with a double bed.
W: Yes, sir. The two rooms are $ 25 a day, and the large room is $ 18 a day .
Q: How much would the man pay for the rooms for 4 days?
A) $172. B) $72. C) $100. D) 43.

W R BT R RANN LA IR SR T2 B Y I 7E DY SR i o
BE AL —BASHERNTHEBE=MHN), R R R ES R, A RS
Fiko EHIBE EEA— B4 SRR E, 1A L4 R — A th, R 5
TRIMGGESE, MASFERAXF. RERBEW AR, MARKEXFZHESHBWR. o
RXLBF AT RS EGERRL) AR FEERET ., HELREREIRBEH (25
+18) x4 BT Tk B HRGA TI TR T . AN ki,

4. #|# (Making Judgement)
Aﬂ‘]'ﬁEE#ﬁﬁ*,%%ﬁz&%%(makingjudgement)%’%%%'#ﬁwo oA AR PR
’%’tﬂﬂﬁh%’ﬁ%ﬁfﬂﬁﬂﬁ‘/\%%%ﬁﬁéﬁ%i‘fﬁo MREBYARRE T EiE A2
XY EHRHE, A — A E P RE LT TN E, M B 3 BT “% = 7 (the third voice)
4



WIAERE AN BET, EAE Y, NN E TR — 0T LA FEAE £ £ K
b BRI KESR

Bl 8
You will hear:
W: You may take this new model, which is a demonstrator, or we can order one for you and have
it here in two months.
M: I prefer a new car, even though the demonstrator is less expensive.
Q: What is a demonstrator?
A) A new model car.
B) A used car for sale.
C) A car shown to and tried by customers.

D) A used car shown to customers.

TEOT B3 E R R, A28 T _Em A NBEE N A, SRR — K E, MY
J2“demonstrator” B /EFE M — 3%, “demonstrator” B IS ZE 1T 4% I bk ZE F i B 00 “RE R R T8
%7, Hilt O)IREIERKET,

S. ¥##7 ( Drawing Inference)

BT J AP, K B 87 (drawing inference) R BB E — MR ERANEA, R AKX E
ERETHNFRTAELAILBRBE, B LA, - RAEAAE IR EE WL
R FARELT XA ARBLE, TEAEAERA—ALREENS ORI, AR ES
Eaxdaf ArER(E4H4) AL4EARAGHEIE,

B9
You will hear:
W: I've just built this up to a point where I'm just beside myself with anxiety. I must get hold of
myself.
M: How about a tranquilizer? I thought you need one.
Q: What is the woman feeling?
A) Excited and courageous. B) Nervous and tense.
C) Calm and excited. D) Nervous and unruffled.

KBSl AT h e AR B 8, A B R — T . ABEER, NEER
REEZ . “T must get hold of myself. " (RABEHIE B T o) A R A £ 7 1 K41 40
5, M RETE I B O, TR 55 75 38 W R —FF offer F1 suggestion, BT 143 aet 4R B DA 6
FEIOR B AT BEFQ ISR, R RR EL AR E 3T H A HR4R . 350a) R v S A BB , S Bk 14
BT R AR E R BRI S BT T = X A4 1R S T R B T
B)IUSK R ERERET .
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AR E B2 (Par BYREX T AR, —MEFEZFEXLK, BREHH

¥ N 100~200 MA ke E L,

REXEMTE, PRAAER) , LERXTERE, AEHE XA EHEET,
Hh, mRFEpiRES , AXESREZERNL LS X REE RELTHE,

HXERWEERZIAEETEMERA AETETEL, — BRI, —BEXHHE
BEBARBANNEEERR, RE¥ A AKERT T £, 2R L TUTHAR S LT
ER. BARMIALEEGRTERRATHE, CFLER, BHEXT A AEA LR E
MABRME, BB - R G AR, RINETUNNEREBERTSTRE, BFR, A3 E AL
FEAXLER BT AERFEANER,

AL IR ALK A — AT DA T JL A - 3 98 A (exposition) , 3 34 & (description) , 40 ¥ & (nar-
ration) A7 1} it & (argumentation) ,

1. i%BA S ( Exposition)

RARE XN ERTURA BYAAE, A EH T ERIA S REY #45—%
I A B LR AHAFELTEERERAMBEY N AL MR IO R R, x4
XA -ANERE HEXTFHREHEAE,

Bl 10(ITRE)
You will read:
1. A) Ten million cells. B) Ten billion cells.
C) A hundred million ells. D) A hundred billion cells.

2. A) Because they are produced to do so.
B) Because people ask them to do so.
C) Because they are programmed to do so.
D) Because people expect them to do so.

3. A) It is impossible that computers can be as creative as men.
B) When computers are made as complex as human brains.
C) There is a long way to go.

D) It’s uncertain that computers can be as complex as human brains.

AR SO F AR T AR5 i i X 51 EEAXFHRHET TEL, TH=A
FREVNR GBI EHN, B E Rt
TEE TR T ORI ELTE B A — S g5 R0 A IR ﬁ%ﬂﬁ&&%t*ﬂ#miﬁﬁﬁﬂ HEE
R LB A R R A Bt B 5 AR 2 AR R0, RIS HieR T
1 B 2 WL, A0SR BT S M LA R R B 2, BT T T DA R — RE Y B
S0SR A RS R — B R 2%, BB AT B AR R,
6



BRGSO I — R H B 8] ; “ complexity” | “mammalian” | “ neurons” | “intricacy” |
“components” . Fl“equivalent” % , {H 1 55 68 07 # %1 B S SCHY FEAR (T SUEB E L T XH AT
T—Em#ER, 0. “complicated”, “compare” | “brain” , “cells” F1“switches” ,

BLsh S T LA B O3 e AR5 AR 3 1R 2 B, IR SUR & ), A XEVE B
Ry, =REMERSHIA:1.D, 2. C, 3. B,

B 11 (T RE)
You will read:
4. A) Tree rings grow close together.
B) Tree rings grow far apart
C) Trees in New Mexico will grow big and tall.
D) No tree rings at all.
5. A) Because they can tell whether in that area the climate was favorable or not.
B) Because they can tell whether a particular tree was healthy or not.
C) Because they can tell whether people took good care of the tree or not.
D) Because they can tell how old the trees were.
6. A) They cut down all the trees.
B) Trees were all dead because of no water.
C) Bad weather affected the growth of trees.
D) People found little space for living because of too many trees.

AREXHEBRM GURNRR, BFE, ETHRIZBE XS FHE, RiT252Mm 7
LZEVHEAR Y EZRBRAEAN, HESEE AR T — s 1o BT SUAR B s
KREBARNER—BBRIER, “ree rings”, SRR TS FHRKBE B XS F
£ FAREERTRTHARERHRALTEN—FEE S,

B E IR T “tree rings” . “the pattem of rings" M, KR o 25 TEEEXPEK
6 T 3R, SLhr H BT E E R T AR,

METRE BT 4.7 S.ET%MWg“F?R@JM‘,6.?5&@3’(9@%%%%%?&*& BRN.
4.B,5. Afl6. A,

2. #iA% (Description)

BRBEXFTHERGTURA BT UE, TUREAW MOHR, LT U ERRNE,
TERL XFEMITL A R TIGHE &%, REBEEX-#,ITRAMEE XY
RBR, T # R R XE, BREXBEUERATF L RERABF, U Athmy
HHEFE ’

Bl 12(FRE)
You will read:
1. A) You can ask the police.
B) You can take a taxi-cab.



C) You can ask local people.

D) You can look in the Yellow Pages under hotel and motel.
2. A) In the downtown.

B) In the mountains or near lakes.

C) Near the highway.

D) In the countryside.
3. A) Because it costs too much.

B) Because it breaks laws and regulations.

C) Because there is no campground nearby.

D) Because there is no camp-fire.

ASCHEA TR KRR NERR R B R R /NIRA . % T H Bk 4530k
RETHXEMEN . WS (DML T RS R PREE, 10 85 AR, %t
PR BUNBR, RS BRI , A B L 7K BR 47 B R DA R B AR, A 78 2 T Ptk 1 2 B0 B B
B .

X —EeER4Z 1. “queen-size” “king-size” , “long boys” %, W3 o] A X e B iR AR A
L BT 5 PR A 22 RN £

ASCRBE R HR:1. D, 2. B 3.C,

B 13(FrRE)
You will read:;
4. A)1916. B) 1915. C) 1965. D)1956.
5. A) A communications satellite . B) Microwaves.
C) Telephone communications. D) Television signals.
6. A) Several hundred kilometers. B) 15 kilometers.
C) 150 kilometers. D) 50 kilometers.

ﬁ%*%fﬁg“%@a”mﬁ)‘c,“%EJ”@%E*E%&tt%lJA&EEE,EﬁEH@AQ 83T
60 E A, BB R ATE, B R T4, AEREYRIESEHRYIERNEST
£, :‘EEEEB@Hj%ﬁﬁ?ﬁ%%iﬁﬂ@%&%f&lﬂ,#ﬁiﬁﬁé\%i&mﬁ#ﬁ%%ﬁﬁ
ﬁ'?éo

Jttﬁb,fﬁjciﬁﬁi&ﬂliy%ﬁum&ﬂﬂ%%,mmﬁﬁufﬁj&w‘a‘%ﬂ@#%ﬁ%o ZAETR
BHERRE .4.C, 5.Af6.D,

3. fHE& (Narration)

BENAXREXTAWETERR > — BREIAM AR WIE R ERE X R &
%, ﬁ%ﬁi%%ﬂ%f?%‘ﬁﬁ@ﬁfﬂ%ﬂﬁﬁﬁuﬁﬂﬁﬁ‘]ﬁ%*ﬁﬁg‘%ﬁﬁéﬁ%ﬁo
%%‘ﬁ?ﬂ%ﬁﬁﬁﬁ(ﬁﬁ?’éﬁ#ﬁﬂﬂ% WH questions _E , Bf who, when, what, where, why,
which £ how,,



Bl 14(IFRE)

You will read;

i.

A) He went to the beach.

B) He dried his net on the beach.
C) He visited his friends.

D) He stayed at home with his wife.

. A) From outside of the house.

B) From the sea.
C) From the farther place along the beach.
D) From the ship.

. A) He wrapped it up in his clothe.

B) He picked it up in his basket.
C) He wrapped it up in his bag.
D) He put it back into the sea.

. A) Because the baby seal disappeared suddenly.

B) Because the baby seal smiled.
C) Because the baby seal started to talk.
D) Because the baby seal tumed into a baby girl.

XR—FMHEREN, EXRRT M EFHRE. ——%&Bﬁ,—ﬁ@%ﬂz?@ﬂl"ﬁ@]

REBILBRFE RIF T ERR, RAR — BRI ARA /NG, BFH20, XfilE
HERBRE/NENCEEERRBHER E, 4500 BRI OFHE L B(E 02X EH
B TERT — LB, FEERNFE:1.B, 2.C, 3. AFI4.D,

Bl 1S(TRE)

You will read:

5.

A) The tiger bit the lock off.

B) Railway workers let the tiger out.
C) A rusty bolt on the cage broke.
D) The cage fell down from the train.

. A) She left house for shopping.

B) She was busy with cooking.
C) She was busy with cooking.
D) She was sleeping lightly .

. A) The railway workers. B) Men from the circus.

C) The farmers. D) The neighbors.
MXBRTHER N TF, -1 IRARAERDTER —A~/NE, K ERDS A M

HERET LRRRE, MBI E Tk, B8, 8 X808 TS 125 B
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